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Notc:- 1) All questions are compulsory.

2) Figures to the right indicate maximum marhs.

(l.l) Ansn,er thc follolving Questions (Any Four)

l) Whiit are the f'eatLrres of Java?

lr) Writc a short note on .lVM.

e:) Write a short note on Java Comments.

ti) What is constructor and its type?

ri I)itl.erent in betrveen abstract class and interface.

l'l \\,ritc a short notc on tlrreads

Q.2) Ansrver the following Questions (Any 4)

rrt \\ihat is collection franrervork'? List it's advantages.

Ii) I:xplain interface sort set rvith example.

c) I:xplain the use of class Vector to store dynamic sized constrains.

ilt lr.rplain si,r,ing its need arrd fbatures

c ) \\i ritc program to demonstrate KeyListner and its methods

l ) \\/r'itc a sliort note on driver manager class

{J.3) Ansrvcr thc fbllorving Questions: - (Any a)

rr) \\/rite :r short note on CCT describe its advantage and disadvantage

b ) DiscLiss the advantage of servlets

c) E.rplain servlel Iit-e cyclc irr details

tl) I)ii'f'crentiate betrveerr .lSP and servlet

r) l:nlist the implicit ob.iect of .lSP. Explain any fbur of them in detail

I't t ist ancl lrxplairr valid .ISON data types

(1.-l) Ansrver the lbllowing Questions: - ( Any 5)

;r) Corlpare betrveen .lava and C+*

bt IrrPlain final I(eyword

c ) \\rritc il progr;ur to dcnronstrate use of iterator

,l r I )r'surihe .lDR( driver

ct I;rplain the lit-estyle of .lSP

I'r ('onrpare betweerr .ISON and XML
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